
  

 
 

 

 

 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

QUESTION 1 

What is the missing term in this sequence? 6,10,___, 18,22,26 

a) 2 

b) 4 

c) 5 

 

QUESTION 2 

What is the rule for this sequence?  

88,84,80,76.... 

a) Subtract 4 

b) Subtract 2 

c) Subtract 3 

 

QUESTION 3 

Would 55 be in this sequence?  

25,30,35,40.... 

a) Yes  

b) No 

 

QUESTION 4  

What is the missing term in this sequence? 13,26,52,___208 

a) 72 

b) 104 

c) 42 

 

QUESTION 5 

True or False: The 6th term in this sequence is 20. 

4,5,7,10,14,19,25... 

a) True 

b) False 
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